BT TRIA O - HEHHEE X T ﬂﬁﬁkjeﬁom KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
X 55,204 124,063 60,388 63,675
=z 628 1,482 732 750
REFZHT 1,663 3,788 1,900 1,888
FEET 220 470 260 210
FE T 1,090 2,349 1,138 1,211
MR 1,398 2,948 1,369 1,579
NG 245 510 264 246
FRET 1,776 4,000 1,929 2,071
AE 780 1,869 921 948
itz 1,784 4017 1,937 2,080
Fazsdt 2,167 5,372 2,678 2,694
TIEET 2,872 7,347 3,554 3,793
i 622 1,473 740 733
TERET1T 837 1,754 877 877
TERET2T 808 1,820 896 924
TERET3T 922 2,317 1,139 1,178
TERET4T 498 1,163 575 588
TERETST 624 1,524 798 726
g 3,689 8,578 4,285 4,293
J\E=FHT 805 1,821 891 930
J\EILHT 2,284 5,349 2,618 2,731
J\ETET1T 4 7 5 2
J\BTET2T 1,242 2,407 1,116 1,291
J\BTET3T 526 1,079 540 539
g 1,772 3,493 1,661 1,832
J\EB R ZHT 433 736 347 389
®/\H 540 1,181 580 601
B 2,304 5,452 2,685 2,767
EH 1,259 3,018 1,516 1,502
EFALET 2,342 5,108 2,389 2,719
EFIRET 1,750 3,356 1,621 1,735
EHIFKHET 2,724 5,657 2,770 2,887
R R HET 3,565 7,928 3,868 4,060
R LT 1,214 3,007 1,480 1,527
PRI RHET 1,175 2,676 1,307 1,369
EH K ET 1,492 3,208 1,599 1,609
RBR 6 7 4 3
ER1T 562 1,257 597 660
ER2T 486 1,139 558 581
ER3T 288 705 332 373
ER4AT 520 1,193 608 585
ERST 239 531 262 269
ER6T 439 965 486 479
g 2,540 5,797 2,847 2,950
1=2H 5529 12,960 6,290 6,670
RE 694 1,469 696 773
¥& _EHT 1,570 3,536 1,736 1,800
RErL 340 742 355 387
= [RET 1,938 3,366 1,425 1,941
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